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1. (a) ÁõÛéÜ¼Û¶ÍÛé …Û¸ÛéÅÛà …¬ÛÙÉÛÛÍªÛ¶Ûà ÈýÛÛ”ýÛÛ¶Ûà ¤øàïõÛ©¾Ûïõ Áõà©Ûé ˜Û˜ÛÛÙ ïõÁõÛé.  6 
  Critically discuss the definition of Economics given by Prof. Robbins. 
          …¬ÛÈÛÛ/OR 

  ¸ÛóÛé. ÍÛé¾ýÛäÅÛÍÛ¶Ûé …Û¸ÛéÅÛà ÜÈÛïõÛÍÛÅÛ“Ûà ÈýÛÛ”ýÛÛ ÍÛ¾Û›ÛÈÛÛé. 
  Discuss the growth oriented definition of Economics given by Prof. Samuelson. 
 (b) ©ÛäÜÌ¤ø•Ûä¨Û¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé.  4 
  Explain the concept of utility. 
      …¬ÛÈÛÛ/OR 

  ÈÛÍ©Ûä¶ÛÛ ¸ÛóïõÛÁõÛé ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé.  
  Explain briefly the types of Goods. 
 (c) …éïõ¾ÛÅÛ“Ûà …¬ÛÙÉÛÛÍªÛ …¶Ûé ÍÛ¾Û•ÛóÅÛ“Ûà …¬ÛÙÉÛÛÍªÛ¶ÛÛé ”ýÛÛÅÛ Í¸ÛÌ¤ø ïõÁõÛé.  4 
  Clarify the concept of Micro and Macro Economics. 
    …¬ÛÈÛÛ/OR 

  ÍÛ×¸ÛÜ«Û …¶Ûé ¶ÛÛ¨ÛÛ×¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé.  
  Explain the concept of Money and Wealth. 
 
2. (a) ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ¶ÛÛé ”ýÛÛÅÛ ÈÛ¨ÛÙÈÛÛé.  6 
  Describe the concept of price elasticity of demand. 
      …¬ÛÈÛÛ/OR 

  ¾ÛÛ×•Û¶Ûé ¶Û‘õà ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé ÜÈÛ•Û©Ûé Áõ›æ÷ ïõÁõÛé.  
  Explain the determinants of demand in detail. 
 (b) •ÛóÛÐüïõ¶ÛÛ …ÜµÛïõ ÍÛ×©ÛÛéÌÛ ÜÈÛÉÛé ¤æ×øïõà ¶ÛÛêµÛ ÅÛ”ÛÛé. 4 
  Write a short note on consumer’s surplus. 
     …¬ÛÈÛÛ/OR 

  ¾ÛÛ×•Û¶Ûà ¸ÛóÜ©Û ¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ¶ÛÛé …¬ÛÙ Í¸ÛÌ¤ø ïõÁõÛé.  
  Clarify the meaning of cross elasticity of demand. 
 (c) …ÈÛéœ÷ …ÍÛÁõ¶Ûä× …¬ÛÙ–Û¤ø¶Û ïõÁõÛé.  4 
  Clarify the meaning of substitution effect. 
       …¬ÛÈÛÛ/OR 

  ÐüÅÛïõà ÈÛÍ©Ûä…Ûé¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé.  
  Explain the concept of inferior goods. 
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3. (a) ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ ÍÛÛµÛ¶Û ¸Ûó¾ÛÛ¨Û¶ÛÛé Ü¶ÛýÛ¾Û ÍÛ¾Û›ÛÈÛÛé.  6 
  Explain the law of variable proportion.  
    …¬ÛÈÛÛ/OR 

  ÍÛÁéõÁõÛÉÛ ”Û˜ÛÙ (AC) …¶Ûé ÍÛà¾ÛÛ×©Û ”Û˜ÛÙ (MC)¶ÛÛé ”ýÛÛÅÛ Í¸ÛÌ¤ø ïõÁõÛé. AC …¶Ûé MC ÈÛ˜˜Ûé¶ÛÛé 
ÍÛ×¼Û×µÛ ˜Û˜ÛÛë.  

  Clarify the concept of Average Cost and Marginal Cost. Discuss the relationship 
between AC and MC. 

 (b) ÍÛ¾ÛŠ©¸ÛÛþù¶Û Áéõ”ÛÛ¶ÛÛ ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé.  4 
  Give the characteristics of Iso-quants curve. 
    …¬ÛÈÛÛ/OR 

  ÍÛÁéõÁõÛÉÛ …ÛÈÛïõ …¶Ûé ÍÛà¾ÛÛ×©Û …ÛÈÛïõ¶ÛÛ ”ýÛÛÅÛ ÈÛ¨ÛÙÈÛÛé.  
  Describe the concept of Average Revenue and Marginal Revenue. 
 (c) Š©¸ÛÛþù¶Û ÉÛîýÛ©ÛÛ Áéõ”ÛÛ¶ÛÛé ”ýÛÛÅÛ Í¸ÛÌ¤ø ïõÁõÛé.  4 
  Clarify the concept of Production Possibility Curve. 
   …¬ÛÈÛÛ/OR 

  ÈÛíéïõÜÅ¸Ûïõ ”Û˜ÛÙ¶ÛÛé …¬ÛÙ …Û¸ÛÛé.  
  Give the meaning of Opportunity Cost. 
 
4. (a) ˆ›ÛÁõÛýÛäî©Û ÐüÁõàºõÛˆ¶ÛÛ× ÅÛ“Û¨ÛÛé ÈÛ¨ÛÙÈÛÛé. 6 
  Describe the characteristics of Monopolistic Competition. 
    …¬ÛÈÛÛ/OR 

  Ýïõ¾Û©Û ½Ûéþù½ÛÛÈÛ îýÛÛÁéõ ÉÛîýÛ …¶Ûé ¶ÛºõÛïõÛÁõïõ ¼Û¶Ûé ? 
  When is price discrimination possible and profitable ? 
 (b) ”ÛÛ×˜ÛÛÈÛÛÇà ¾ÛÛ×•ÛÁéõ”ÛÛ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. 4 
  Explain the concept of Kinked Demand curves. 
   …¬ÛÈÛÛ/OR 

  ¸Ûæ¨ÛÙ ÐüÁõàºõÛˆ¶ÛÛ× ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé.  
  Give the characteristics of Perfect Competition. 
 (c) ÅÛÛþù¨Û ÜÈÛÉÛé ¤æ×øïõà ¶ÛÛêµÛ ÅÛ”ÛÛé. 4 
  Write a short note on Dumping. 
    …¬ÛÈÛÛ/OR 

  ›Ûé¦øÛ¨ÛýÛäî©Û …Å¸Û ÐüÍ©Ûïõ ˆ›ÛÁõÛ ÜÈÛÉÛé ¤æ×øïõà ¶ÛÛêµÛ ÅÛ”ÛÛé. 
  Write a short note on Collusive Oligopoly. 
 
5. ¶Ûà˜Ûé …Û¸ÛéÅÛÛ× ÜÈÛïõÅ¸ÛÛé¾ÛÛ×¬Ûà ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà Š«ÛÁõ …Û¸ÛÛé : 14 
 Choose the appropriate answer from the option given under : 
 (1) ”ÛÛ×˜ÛÛÈÛÛÇà ¾ÛÛ×•ÛÁéõ”ÛÛ¶Ûä× ¸ÛóÜ©Û¾ÛÛ¶Û (Model) Áõ›æ ïõýÛäÙ 
  (a) Í¤øà•ÅÛÁõ (b) ¼ÛÛé¾ÛÅÛ 
  (c) ˜Ûé¾¼ÛÁõÅÛà¶Û  (d) ¸ÛÛŠÅÛ ÍÈÛà¡öà 
  The kinked demand curve model is given by  
  (a) Stigler (b) Baumol 
  (c) Chamberlin (d) Paul Sweezy 
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 (2) ÈÛé̃ ÛÛ¨Û ”Û˜ÛÙ ©Ûé ”Û˜ÛÙ ™öé ›÷é 
  (a) ¸ÛäÁõÈÛ¥øÛ¶Ûé ¾ÛÛ×•Û¶Ûé …¶ÛäÄõ¸Û ïõÁéõ ™öé.  (b) ¾ÛÛ×•Û¶Ûé ¸ÛäÁõÈÛ¥øÛ¶Ûé …¶ÛäÄõ¸Û ïõÁéõ ™öé.  
  (c) Š©¸ÛÛþù¶Û¶Ûé ¾ÛÛ×•Û¶Ûé …¶ÛäÄõ¸Û ïõÁéõ ™öé. (d) …éïõ¸Û¨Û ¶ÛÐüá  
  Selling cost are the costs which 
  (a) adjust supply to demand (b) adjust demand to supply 
  (c) adjust production to demand (d) neither 
 (3) ÍÛà¾ÛÛ×©Û …ÛÈÛïõ ÉÛÛéµÛÈÛÛ ¾ÛÛ¤éø ïõýÛä× ÍÛæªÛ ™öé ? 

  (a) MR = P  e (b) MR = 
P
e  

  (c) MR = P 



e – 1

e   (d) MR = P



e

e – 1   

  šýÛÛ× MR = ÍÛà¾ÛÛ×©Û …ÛÈÛïõ e = ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛ ÍÛÛ¸Ûé“Û©ÛÛ×ïõ, P = ÍÛÁéõÁõÛÉÛ …ÛÈÛïõ = ½ÛÛÈÛ 
  Which formula is used to find out MR ? 

  (a) MR = P  e (b) MR = 
P
e  

  (c) MR = P 



e – 1

e   (d) MR = P



e

e – 1   

 (4) ïõýÛÛ ¼Û›ÛÁõ¾ÛÛ× …éïõ ¸Ûé§øà ½ÛÛÈÛ ÍÈÛàïõÛÁõ¶ÛÛÁõ ™öé ? 
  (a) ˆ›ÛÁõÛé (b) …Å¸ÛÐüÍ©Ûïõ ˆ›ÛÁõÛé 
  (c) ¸Ûæ¨ÛÙ ÐüÁõàºõÛˆ (d) ˆ›ÛÁõÛýÛäî©Û ÐüÁõàºõÛˆ 
  In which of the following markets, a firm is a price taker ? 
  (a) Monopoly (b) Oligopoly 
  (c) Perfect Competition (d) Monopolistic Competition 
 (5) ˆ›ÛÁõÛ¶Ûà ¸Ûé§øà¶Ûà ¾ÛÛ×•ÛÁéõ”ÛÛ  
  (a) X-…“Û¶Ûé ÍÛ¾ÛÛ×©ÛÁõ  (b) Þô¨Û §øÛÇÈÛÛÇà 
  (c) µÛ¶Û §øÛÇÈÛÛÇà (d) Y-…“Û¶Ûé ÍÛ¾ÛÛ×©ÛÁõ  
  Demand curve facing a monopoly firm is 
  (a) parallel to X-axis (b) downward sloping 
  (c) Upward sloping (d) parallel to Y-axis  
 (6) ïõýÛÛ ÜïõÍÍÛÛ¾ÛÛ×, ¼ÛµÛÛ ›÷ ”Û˜ÛÛÙ…Ûé …ÜÍ¬ÛÁõ ™öé ? 
  (a) ¾ÛµýÛ¾Û ÍÛ¾ÛýÛ •ÛÛÇÛ¾ÛÛ× (b) ¤æ×øïõÛ ÍÛ¾ÛýÛ •ÛÛÇÛ¾ÛÛ×  
  (c) ÅÛÛ×¼ÛÛ ÍÛ¾ÛýÛ •ÛÛÇÛ¾ÛÛ× (d) ¼ÛµÛÛ ›÷ ÍÛ¾ÛýÛ •ÛÛÇÛ¾ÛÛ×  
  In which case, all costs are variable ? 
  (a) Medium term (b) Short run 
  (c) Long run (d) in all time period 
 (7) …¬ÛÙÉÛÛÍªÛ¾ÛÛ×, ¤æ×øïõÛ ÍÛ¾ÛýÛ •ÛÛÇÛ¾ÛÛ× 
  (a) …éïõ ›÷ ÍÛÛµÛ¶Û …ÜÍ¬ÛÁõ/¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ  
  (b) ¼ÛµÛÛ ›÷ ÍÛÛµÛ¶ÛÛé ÜÍ¬ÛÁõ 
  (c) ¼ÛµÛÛ ›÷ ÍÛÛµÛ¶ÛÛé ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ (…ÜÍ¬ÛÁõ) 
  (d) …éïõ¸Û¨Û ¶ÛÐüá  
  In Economics, short run refers to 
  (a) only one factor variable (b) all factors fixed 
  (c) all factors variable (d) neither 
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 (8) •ÛóÛÐüïõ¶ÛÛ …ÜµÛïõ ÍÛ×©ÛÛéÌÛ¶ÛÛé ”ýÛÛÅÛ Áõ›æ÷ ïõýÛÛë  
  (a) ¸ÛÛŠÅÛ ÍÈÛà¡öà (b) ¾ÛÛÉÛÙÅÛ 
  (c) ˜Ûé¾¼ÛÁõÅÛà¶Û (d) Í¤øà•ÅÛÁõ 
  The concept of consumer’s surplus is given by 
  (a) Paul Sweezy (b) Marshall 
  (c) Chamberlin (d) Stigler 
 (9) Ü•Ûºõ¶Û ÈÛÍ©Ûä…Ûé ™öé 
  (a) ¸ÛóÜ©ÛÌ¥øÛ¾ÛæÅÛïõ ÈÛÍ©Ûä…Ûé (b) ¾Ûæ¦øà ÈÛÍ©Ûä…Ûé 
  (c) …éÉÛ-…ÛÁõÛ¾Û¶Ûà ÈÛÍ©Ûä…Ûé (d) ÐüÅÛïõà ÈÛÍ©Ûä…Ûé 
  Giffen goods are 
  (a) Prestige goods (b) Capital goods 
  (c) Luxury goods (d) Inferior goods 
 (10) …¬ÛÙÉÛÛÍªÛ¶Ûà ïõÅýÛÛ¨ÛÅÛ“Ûà ÈýÛÛ”ýÛÛ Áõ›æ÷ ïõÁõ¶ÛÛÁõ …¬ÛÙÉÛÛÍªÛà 
  (a) ¾ÛÛÉÛÙÅÛ  (b) ÁõÛéÜ¼Û¶ÍÛ 
  (c) ÍÛé¾ýÛäÅÛÍÛ¶Û (d) ¼ÛÛé¾ÛÅÛ 
  The economist who presented welfare oriented definition of economics 
  (a) Marshall (b) Robbins 
  (c) Samuelson (d) Baumol 
 (11) …ÛÜ¬ÛÙïõ ÍÛ¾ÛÍýÛÛ¶Ûä× ¾ÛæÇ ™öé 
  (a) ÅÛ“ýÛ  (b) ÅÛÛé½Û 
  (c) ÍÛÛµÛ¶ÛÛé (d) …™ö©Û 
  The root cause of economic problem 
  (a) Ends  (b) Greed 
  (c) Means (d) Scarcity 
 (12) ¾ÛÛ×•Û¶ÛÛ Ü¶ÛýÛ¾Û …¶ÛäÍÛÛÁõ Ýïõ¾Û©Û …¶Ûé ¾ÛÛ×•Û ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ ________ 
  (a) µÛ¶ÛÛ©¾Ûïõ (b) ÈýÛÍ©Û 
  (c) ¸Ûó©ýÛ“Û  (d) …éïõ¸Û¨Û ¶ÛÐüá  
  According to the law of demand, the relation between price and demand is 
  (a) positive (b) inverse 
  (c) direct (d) neither 
 (13) Š©¸ÛÛþù¶Û ÜÈÛµÛéýÛ …é¤ÅÛé  
  (a) ÍÛÛµÛ¶Û ¸Ûó¾ÛÛ¨Û …¶Ûé Š©¸ÛÛþù¶Û ¸Ûó¾ÛÛ¨Û ÈÛ˜˜Ûé ÍÛ×¼Û×µÛ 
  (b) Š©¸ÛÛþù¶Û …¶Ûé ÈÛé˜ÛÛ¨Û …ÛÈÛïõ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ 
  (c) Š©¸ÛÛþù¶Û …¶Ûé Ýïõ¾Û©Û ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ 
  (d) ÍÛÛµÛ¶Û ¸Ûó¾ÛÛ¨Û …¶Ûé ÍÛà¾ÛÛ×©Û ”Û˜ÛÙ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ 
  Production function means 
  (a) Relation between factor amount and output 
  (b) Relation between production and sales revenue 
  (c) Relation between production and price 
  (d) Relation between factor amount and marginal cost 
 (14) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ÅÛ“Û¨Û ˆ›ÛÁõÛýÛäî©Û ÐüÁõàºõÛˆ¶Ûä× ¶Û¬Ûà ? 
  (a) ÜÈÛ’éõ©ÛÛ…Ûé¶Ûà ÜÈÛÉÛÛÇ ÍÛ×”ýÛÛ  (b) •ÛóÛÐüïõÛé¶Ûà ÜÈÛÉÛÛÇ ÍÛ×”ýÛÛ 
  (c) ÍÛ¾ÛÛ¶Û•Ûä¨Ûà ÈÛÍ©Ûä (d) ¾Ûäî©Û ¸ÛóÈÛéÉÛ 
  Which of the following is not a characteristic of monopolistic competition ? 
  (a) Large number of sellers (b) Large number of buyers 
  (c) Homogenous product (d) Ease of Entry 

________ 


